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UNIT ONE

Passage 1:Making Peanut Butter

Synopsis :
There are six steps in making peanut butter. They are picking, shelling, roasting
and grinding the peanuts,adding flavor to the peanut butter and putting it into contain-

ers.

peanut butter biRay-
food processing plant aTaRmIr
roast [roust | v, &

oven ['avan] n.  HERR.IER
flat  [flaet] a. FH

tray [trei] n #XHEHK
crush  [kraf] v. JE®
grind [graind ] v. BEE

paste [peist] n. RIRY
tub [tab] n. ¥

flavor [Yleive] n. ¥

1. Write down the missing words you have just heard in the corresponding space below.
After the first step of picking the peanutsis 1) ,the peanuts must be _2) .Inoth-
er words,we have to take off the hard 3) of the peanut. Shelling the peanuts is  4)
done at a food _ 5) factory. Again,there are _6) which can do this work 7). It is not
necessary for people to __8) the shells by themselves. After the 9> have been taken off

the peanuts,the peanuts are ready to be 10) .

2. Listen again and write T if the sentence is true,write F if the sentence is false.
( 1) The first step in making peanut butter is picking the peanuts.
( )2) Peanuts grow below the ground.

( )3) The peanuts have to be roasted for several seconds.



)4) Grinding makes the peanuts into a kind of paste.
)5) Machines remove the shells from the peanuts.

)6) The peanuts are baked in large ovens.

~ N AN

)7) The peanuts are ground by machine.

Passage 2:Population ‘Trends in Postwar Canada

Synopsis ;
Canada had a rapid population growth in the 20 years after the Second World War.
Although the birth rate has declined since 1966,another large population wave is com-

ing.

impressive [im'presiv ] a. HAHZREZH

depression [di'prefan ] n. &k
baby boom EE H g
expansion [ik'spesenfon] n. ik
derive [di'raiv] v. K18
trend n. (@M
peak [pik] n. T
decline [di'klain ] v. T
family n. FL
horizon [ha'raizn] n. MR
compose of [kom'psuz] v. A
prior[praia] to A, fEeeeees ZHiI

1. Listen to the passage and decide which is the best answer.
1)What does the passage mainly discuss?
A. Educational changes in Canadian society
B. Canada during the Second World War
C. Population trends in postwar Canada
D. Standards of living in Canada
2)According to the passage,when did Canada’s baby boom begin?
A.In the decade after 1911 B. After 1945
C. During the depression of the 1930's D.In 1966
3)The author suggests that in Canada during the 1950's

A. the urban pupulation decreased rapidly B. fewer people married

4



C. economic conditions were poor D. the birth rate was very high
4)When was the birth rate in Canada at its lowest postwar level?
A.1966 B. 1957 C. 1956 D. 1951
5)The author mentions all of the following as causes of declines in population growth after
1957 EXCEPT
A. people being better educated B. people getting married earlier

C. better standards of living D. couples buying houses

2. One word in each sentence is not correct. Rewrite the sentence with the correct word.

1)In September 1966 Canada’s population passed the 12 million mark.

2)The baby boom continued through the decade of the 1915.

3)The poor economic conditions of the 1950’ s supported a growth in the population.

4)In 1957 the Canadian birth rate stood at 28 per cent.

5)After the peak year of 1957, the birth rate in Canada began to increase.

6)Partly this decline reflected the high level of births during the depression and the war.

7)Young married couples were buying automobiles or houses after starting families.

Passage 3:Making Chocolate

Synopsis:
The process of making chocolate requires cocoa beans and sugar. Cocoa is a kind of

tree that grows in hot tropical areas.

cocoa ['ksukou]

n. W[
tropical ['tropikl] a. PHH
oval ['suval] a. % B 7 1
crack [krak]] v, HMHFF

1. Listen to the questions and write your answers on the lines below.



1)What is the shape of the cocoa fruit?

2)What color is the cocoa fruit when it is ripe?

3)How long does it take for the beans to dry?

4)What do the raw beans taste like?

5)What happens to the size and color of the beans when they dry?

6)How long must the sugar-water-cocoa mixture be cooked?

7)When does the chocolate liquid become hard?

2. Listen again and write T if the sentence is true,write F if the sentence is false.
)1) Cocoa is a kind of tree that grows in tropical areas.

)2) The cocoa fruit is round.

)3) The cocoa fruit has a thin,soft skin.

)4) The trees each have about 40 or 50 cocoa fruits.

)5)  When the {ruit is ripe,the outside skin turns a dark orange.

)6) The beans must be crushed.

)7) When the beans are dried,then turn dark red.

NN N NN NN

Conversation: I’ d Better Call the Airport Now

Synopsis :
Louisa Hennekey is coming in on Pan American flight 207. The person who is going

to meet her doesn’t know her. So he’d better call the airport.

1. Listen to the conversation and write T if the sentence is true,write F if the senténce is
false.

)1) She's coming in on Pan Am flight 207 and that gets in at 3:15.

)2) She has dark brown hair.

)3) She will be wearing the same light gray coat.

)4) She is travelling alone.

)5) She looks about 13.

NN N NN



2. Listen to the conversation and complete the missing information.

Name

Flight number

Arrival time
Age
Hair

Clothes

News

-
Svnopsis;
Flood waters are receding in parts of the upper mid-western United States while

waters continue to rise in others.

recede [ri'sid] vi. 1B
dike ,dyke [daik] n.  YATH]

Five

1. Decide which statement tells the most important fact in the news item.

1)Flood waters are receding in parts of the upper western United States.

2)The northern states of Minnesota and North and South Dakota are seeing the worst of the
early spring flooding.

3)Ellivis Valetino owns Valetino restaurant.

4)The Minnesota river is one of the several in the state of Minnesota.

5)Flooding is expected to continue for a few more weeks.

6)There was a record snow fall last year.

2. Write down the missing words you have just heard in the corresponding space below.
The Minnesota River is one of the 1) in the state of Minnesota,North Dakota and
South Dakota that has 2) outof its 3) because of the 4) snow and 5) rain
during the past week. President Clinton has 6) many counties in all three states 7)
disaster areas and 8) is expected to 9) for a few more weeks as last winter’s record

10) continues to melt. Michael Leland VOA news Chicago. ™



Tapescripts and Keys

Passage 1:Making Peanut Butter

Making peanut butter is a fairly easy process with six basic steps. Most factories,or food
processing plants,follow the same six steps in order to make peanut butter.

Of course, the first step in making peanut butter is picking the peanuts. Peanut. grow
below the ground,not above the ground like most nuts. So in order to pick the peanuts,the
entire plant must be pulled up out of the ground. Machines can do this work easily. The ma-
chines can also remove the peanuts from the peanut plant.

After the first step of picking,of harvesting,the peanuts is complete,the peanuts must
be shelled. In other words,we have to take off the hard covering of the peanut. Shelling the
peanuts is usually done at a food processing factory. Again,there are machines which can do
this work easily. It is not necessary for people to remove the shells by themselves. After the
shells have been taken off the peanuts,the peanuts are ready to be roasted.

So,after shelling,the third step is roasting. The peanuts are put into large ovens,on flat
metal trays. The peanuts have to be roasted for several minutes. Roasting improves the taste
of the peanuts.

After being roasted,the peanuts are ready to be crushed,or ground up. This is an impor-
tant step in making peanut butter. Grinding makes the peanuts into a kind of thick paste. The
roasted peanuts are put into a large metal tub,and then they are ground by machine little by
little until they become soft. After they are ground up,the peanuts have become peanut but-
ter.

Next, salt and other spices are added to the mixture. These spices add flavor to the
peanut butter.

The peanut butter is then poured into glass jars. The jars are transported to stores where

people can buy the product.

Exercise One

1. Dcomplete 2)shelled 3)covering 4)usually 5)processing
6)machines 7)easily  8)remove  9)shells 10)roasted
2.DT 2T 3F OT 5T 6F 7T

Passage 2 :Population Trends in Postwar Canada

Basic to any understanding of Canada in the 20 years after the Second World War is the
country’s impressive population growth. For every three Canadians in 1945, there were over
five in 1966. In September 1966 Canada’s population passed the 20 million mark. Most of this
surging growth came from natural increase.

8



The depression of the 1930’s and the war had held back marriages,and the catching-up
process began after 1945. The baby boom continued through the decade of the 1950’ s, pro-
ducing a population increase of nearly fifteen percent in the five years from 1951 to 1956.
This rate of increase had been exceeded only once before in Canada’s history,in the decade
before 1911,when the prairies were being settled. Undoubtedly ,the good economic conditions
of the 1950’ s supported a growth in the population,but the expansion also derived from a
trend toward earlier marriages and an increase in the average size of families. In 1957 the
Canadian birth rate stood at 28 per thousand,one of the highest in the world.

After the peak year of 1957, the birth rate in Canada began to decline. It continued
falling until in 1966 it stood at vhe lowest level in 25 years. Partly this decline reflected the
low level of births during the depression and the war,but it was also caused by changes in
Canadian society, Young people were staying at school longer;more women were working;
young married couples were buying automobiles or houses before starting families ;rising liv-
ing standards were cutting down the size of families.

Although the growth in Canada’s population had slowed down by 1966 (the increase in
the first half of the 1960's was only nine percent). Another large population wave was com-
ing over the horizon. It would be composed of the children who were born during the period

of the high birth rate prior to 1957.

1.1OC 2B 3)D 4)A 5)B
2.1)In September 1966 Canada’s population passed the 20 million mark.
2)The baby boom continued through the decade of the 1950's.
3)The good economic conditions of the 1950's supported a growth in the population.
4)In 1957 the Canadian birth rate stood at 28 per thousand.
5)After the peak year of 1957,the birth rate in Canada began to decline.
6)Partly this decline reflected the low level of births during the depression and the war.

7)Young married couples were buying automobiles or houses before starting families.

Passage 3.Making Chocolate

Making chocolate is a simple process. The process requires only cocoa beans and sugar.

The most important ingredient in chocolate is cocoa. Cocoa is a kind of tree that grows in
hot tropical areas,such as central Africa or South America. The fruit of the cocoa tree is a
very large oval-shaped fruit. It is a yellowish-orange color and it has a very thick,hard skin.

When the cocoa inside the fruit is ready to be picked,in other words,when the fruit is
ripe ,the outside skin turns a darker orange. When the cocoa fruit is ripe,it can be taken from
the tree. Each tree has about ten or fifteen cocoa fruits.

After the fruits have been picked, or taken from the tree,the cocoa fruits must be
opened. The skin of the cocoa is very hard,so the fruit must be cracked with a very heavy
tool or rock. Inside the cocoa fruit,there are several cocoa beans. Each fruit contains about

9



thirty,or forty,or perhaps fifty cocoa beans in a row or in several straight rows. The ripe
cocoa beans are a dark red color,and have a very bitter taste.

After the beans have been taken from the cocoa fruit,they must be dried. The raw beans
are somewhat wet and thick. The beans have to be dried in the sun,very slowly. The hot
tropical sun is good for this drying process. It usually takes about three or four weeks to dry
the beans completely.

When the beans are completely dry,they turn a dark brown color. The beans also be-
come much smaller. The dried cocoa beans can be used to make chocolate. The taste of the
dried beans,however,is still very bitter.

To make chocolate,the dried cocoa beans must be crushed into small pieces. The small
pieces are then mixed with sugar and water. This sugar-water-cocoa mixture must be
cooked,or boiled, for several hours. After being boiled with sugar, the cocoa beans become
sweet and rich.

When the chocolate liquid cools,it becomes hard. This hardened chocolate is the kind of

chocolate that is sold in stores.

1. DOval. 2)Dark orange. 3)3 or 4 weeks, 4)Bitter.

5)They become smaller and turn brown. 6)For several hours. 7)When it cools.
2.D0T 2)F 3)F ©F 5T 6T 7F

Conversation:I’ d Better Call the Airport Now
A. What was the name of that person I'’m going to meet today?
B: Uh,let’s see. Her family name is Hennekey, that' s H-E-N-N-E-K-E-Y,and her first

name’s Louisa.

A: Okay,Louisa and her last name was Hennekey,is that correct?

B:  Yeah.

A What was that flight number she was coming in on?

B:  She’s coming in on Pan American flight 207 and that gets in at 3:15,but I think you’
d better check because,you know,these flights are late sometimes.

A:  Right,I"ll check,I"ll call the airport just to make sure that it’s on time.

B: Mmhmm. »

A: Uh,do you have any idea what she looks like?

B:  Yes,I've got a picture of her,actually.

A: Oh great!

B: Well,what would you say? She looks about 30.

A: At least! Short dark hair and quite slim. And did she say she’d be wearing the same
coat?

B:  Yeah.It's a light gray coat with a belt and a wide collar :Kind of smart looking.

A: And she’s travelling by hersel{?

10



B:  Mmhmm,.yeah:she's alone.

A:  Well.I hope I can {ind her. I’ d better call the airport now.

{I‘;‘—xe;ciseFour
I.OT 2)F 3T 4T 5F

2.

Name T Louisa Hennekey

EI?lAiigllt number | 207 )

Arrival timcT 3:15 :

Age 30s

Hair Short,dark

Clothes Light gray coat with a belt and wide collar
News

Flood waters are receding in parts of the upper midwestern United States while waters
continue to rise in others. The northern states of Minnesota and North and South Dakota are
seeing the worst of the early spring flooding with officials predicting things will get worse.
more from VOA's Michael Leland in Chicago. “In the town of Montevideo, Minnesota . the
Minnesota River is beginning to drop,but officials say it will be a while before many of the
people evacuated from their homes can return. Ellivis Valetino owns Valetino’s Restaurant
and says the town is worried that a dike holding the river back might be weakening.

‘The people were evacuated but there is no,they aren’t underwater,but they' re right
behind the dyke. And if the dyke were to go.they wouldn't have time to get out.’

The Minnesota River is one of the several in the state of Minnesota,North Dakota and
South Dakota that has run out of its banks because of the melting snow and heavy rain dur-
ing the past week. President Clinton has declared many counties in all three states fatal disas-
ter areas and flooding is expected to continue for a few more weeks as last winter's record

”

snowfall continues to melt. Michael Leland VOA news Chicago.

Exercise Five
1. Sentences:1,2,5.

2. 1)several 2)run 3)banks 4)melting 5)heavy
6)declared  7)atal  8)flooding 9)continue  10)snowfall
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